Prepared by Lygumai (Pakruojis Region, Lithuania) secondary school teacher Fausta Smolenskiene
Can you start your own business?
Economic concepts

Common expenditure – are all monetary expenses, related to the manufacturing of production and a particular good realization. 
Income is money, received for sold goods or services. Gross receipts are calculated by multiplying the amount of sold goods by their sale-price.
Profit is the margin between a good price (or service) and its manufacturing expenses.
Loss is the margin which appears when gross receipts of the business enterprise get smaller than common expenditure.
Expenditure covering (turning) point– is the amount of goods the selling income of which equals common expenditure when selling costs remains the same. There is neither loss nor profit.
Related fields

Language – the formulation of conceptions, providing arguments.

Mathematics – calculations, drawing diagrams.
Aims

· To understand that while buying resources manufacturers undergo production expenditure.
· To define profit and loss.

· To calculate the point of.

The description of lesson

It is explained that, during this class students are going to engage into business of leaning services. They are, also, going to calculate how long should it take till the profit will be made and the debts will be covered i.e. they are going to find a turning-point (break-even), to investigate when profit or loss is obtainable.
Methods

Work in groups, economic modeling. 
The method of working in groups
It is explained that during the lesson students are going to engage into business of cleaning services and calculate how many desks have to be washed in order to defray the costs and start getting the profit. The class itself shares the labour and makes work groups of 4-5 students. Each group is going to wash 1 table. I t has to be emphasized that each member of a group has to perform at least one cleaning operation (thus seeking to involve all members, for instance, one is scratching chewing gum while others are cleaning the table with a cleanser, washing chairs and sopping up).
Economic modeling
Students are told that in order to start business they will need to obtain necessary tools and substances (annex 1). Working groups count the amount of primary capital needed for the investment into their own business – received expenses are written onto the blackboard. Furthermore, groups are pointed out that for they don’t have funds to start business they have to borrow and later on refund. After required implements are handled out students start working (the work should last between 10 and 15 minutes).

After accomplishing the task students are appointed another task.
Situation
The principal of some school decided that nice, cosy and neat atmosphere makes good influence on students and stimulates them to behave well. Therefore, the school wants to by this service (the cleaning of all school’s desks) several times a year. Certain cleaning company offered their cervices at 0, 60 Lt for cleaning of one desk. But the principal decided to take an interest in suggestions of other companies. So your enterprises have the opportunity to present their offers.
Each group presents their service prices by writing them on the blackboard.
 It is reminded that each group has primary expenses which have been invested in their business and which will have to be returned.
Groups calculate the number of desks to be washed in order to defray the costs and start getting the profit (primary expenses are divided by the service price).

It is defined that after cleaning the certain number of desks, counted by the group, it starts to get the profit up to the time when cleanser is finished or other expenses appear.

It is calculated what income the group will get if it cleans 5 desks less or 20 more.

After calculating various numbers of cleaned desks they arrive at a conclusion (annex 2) :

·   when all expenses are equals received income we have a turning-point (break-even);  
· when expenses are bigger tan income we suffer loss;

· when expenses are smaller than income we get profit;

All the calculations are presented in diagram form. Students draw coordinates and mark the number of washed windows on axis x and income on axis y. The horizontal line of primary expenses is drawn and the turning-point is marked.  (the example of a diagram is provided in annex 3). 

ANNEXES
                                             Annex 1  

THE LIST OF NECESSARY EQUIPMENT, TOOLS AND MATERIALS
	Bucket
	10 Lt

	The set of cleaning sponges
	5,30 Lt

	Towel for sopping up
	2,50 Lt

	Disposable gloves (1 set)
	1,20 Lt

	 Cleaning tools
	5 Lt

	Plastic knife
	2 Lt

	TOTAL
	? LT


Annex 2
CONCLUSIONS
IF INCOME IS BIGGER THAN EXPENSES, THAN WE HAVE PROFIT
☺

IF INCOME IS SMALLER THAN EXPENSES, THAN WE HAVE LOSS
☺

IF INCOME EQUALS EXPENSES IT IS CALLED A TURNING-POINT (BREAK-EVEN)
☺

Annex 3
A TURNING-POINT DIAGRAM (example)
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Lesson 2 „Profit puzzle“

Economic conceptions
Manufacturing expenditure – is the total value of all used manufacturing elements. These are necessary expenses for paying for all manufacturing elements.

Income – is money received for sold goods or services. General income is calculated multiplying the sold goods by their selling price.
 Profit – the margin between the price of a good (service) and its manufacturing expenses.

Accounting (general) profit – is the margin between general and accounting income i.e. gross expenditure margin.
Aims
·  To define manufacturing costs, selling income and accounting profit.

· To calculate the selling income of a good and accounting profit.

· To identify the most profitable bakery’s products.

ACTIVITY 1 
Situation. In spite the work of a bakery is profitable; Antanas wants to make more profit. Some products have bigger manufacturing costs than others (require more producing time, more expensive ingredients etc.).  Antanas considers raising the price of products.
Fill in the table below and help Antanas to find out weather the raising of prices will result in higher income. (The data of three months is given).
THE PRICES OF CAKES AND THE PROFIT
	Cost
	Demand
	Selling
	Manufacturing
	Accounting

	(Lt)


	         amount
	income (Lt)
	expenditure(Lt)
	profit (Lt)



	2,00
	300
	
	285,00
	

	1,75
	450
	
	427,50
	

	1,50
	800
	
	760,00
	

	1,30
	1000
	
	950,00
	

	1,10
	1100
	
	1045,00
	

	1,00
	1200
	
	1140,00
	


1. Does selling income get bigger together with raising prices?
2. Does the raising of prices always result in a bigger profit?
ACTIVITY 2 
WHAT CHOICE DOES ANTANAS HAVE?
Directions. According to the given information you have to calculate the missing numbers and decide on which bakery products are profitable to Antanas. In the profit column mark six the most profitable products with a plus (+), and three the least profitable with a minus (-). 3-6 columns show the work record of Antanas bakery in a three-month term.

	Bakery product
	Price
(Lt)
	Demand amount
	Selling income
(Lt)
	Manufacturing expenditure
	Profit
(Lt)

	Nut cakes

	1,50
	800
	
	760
	

	Sweet sticks

	0,75
	1100
	
	605
	

	Chocolate cake

	1,20
	
	1080
	675
	

	Doughnuts „Delight“


	0,85
	2000
	
	1000
	

	„Cookies“


	
	3000
	1500
	600
	

	Apple pie

	1,00
	400
	
	360
	

	„Grandma’s pie“


	1,50
	1000
	
	1000
	

	Dainty pie

	4,00
	200
	
	760
	

	Cinnamon 
 pretzels
	
	4000
	4000
	2000
	

	„Sweet pretties“


	0,60
	5000
	
	2500
	

	
	
	
	
	
	


1. Do the most expensive products always bring the most selling income? Are the most profitable? Why?

2. Do the most popular products (with the biggest demand) always bring the highest selling income? Why?

Expenses – 105 Lt





A turning-point
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